f/NEF EEERGESE

SFl 78 48 10B~ 48 16H (68 &t 7& 38 138~ 38 19RA)

1TH1#fzYE B &

. RE= * 1H1#4Y | Hig N
— “® % "R 5= (h)
BRI E L RE MK ) REE (V) | B%—— -
Al B Al
AT (FRH) 7 2%
[T (E~rh) 14%
i LA (FR) 9% 62 112 2 17
ZTDMDT P%E 5%
1S
%= ~ - - 8 4
1t <Y/ (F) 57 %
= XA (F~XPF) 40% 216 24 | 1 24 24
TlR7Y (B~X) 3%

BEEERNEREES 4% 7% 48 10B~ 48 16H (B8 4% 7% 38 138~ 38 19A)
’ 1THI#HMYYEES
mE WX *1=% x % X RE= x 1TH1#HSY | ﬁ(fg)J =
TEfE aiE ke HEE (k9 B —

Al B Bl &
AVFAh 20~30 A 2, 380 64 56 49
SNERE 3
YVLES 2~4 % 1,004 27 20 43
A H# AbAh | 20~40 A 1, 555 778/8 1,897/8 1,536/8
=153 7 2
VAL 2~4 & 316 158/8 136/8 635/8
EERE | Mt | 2~3.5 &% 24 3 4 3 1
HEHII Do ¥ ¥ D 303
HEAR 7Y 9,661 966 5 745 2,228
BN » -
SNEMmE | T 511 64 4 136 140
SNEERR | 7Y 5,193 433 4 102 268
- EWFA | 5 4~8 kg 523 262/8| 2 148/8 50/8
| mEnHe | 7y — — — — 7
ECAIED1BH 1LY AEEIIERAOKEEZTRT .
i ERBRESR. EXAT—2ICKEERETT,
x cHAE T /B (X, 1 BYE-YDEIGBKEEEZRT,
X FEHAEE,
N=| 3 N
(EMAKBIER] cresmiastsy)
&F1 74 48 10B~ 48 16HMDEHIKE
i 4 K B Bl A E B FE = EOoFE OE
EFEAHB 14.0°C +0°C —2.0°%C —2.3°C

F PFEEFISHIOELTFE BE 10 FROFHE) L0E,




[iﬁﬁ7k5ﬂall.'|%$ﬁ] MGDSST (ATH/ZEKE) [KRETHER] £V

& 7% 4810H

~

4 A1 6 BOFEHKE

X ALEEKEND FTREEKEERE,
K B BB = I FE
XTER 148 °C 05 °C -21 °C
HERH 153 °C 05 °C -20 °C
LE# 16.4 °C 04 °C -13 °C
32 C cmm— 174 o
9g |eeeeer AF64E "x"\-_l-'%ﬁ -:. . ...'...
_SFE"E - l:/\’—\\.'.
26 \
23 \
20 : \
17
14
B 1/1 2‘/1 3‘/1 4‘/1 5‘/1 6‘/1 7‘/1 8‘/1 9‘/1 1(;/1 11‘/1 1£/1
°C
32 | cm— 45 FTE . o oo .
29 |eeeeess SH6E £ I% E ;I:F ._-:I"‘—.-.- e '...
gg | = LB / \ ~
93 /;/{ \_..\‘
? 5 ™
14 "
B 1/1 2}1 3‘/1 4‘/1 5‘/1 6‘/1 7‘/1 8‘/1 9}1 1(;/1 11‘/1 12‘/1

1 ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘
1/1 21 /1 4/1 5/1 6/1 /1 8/1 o/t 101 114 12/
HNEERITESEHIZTT (RHEE: A EEm+: B HE# : C)

KEFEFBE 5 FRDOTYIE,



